
FWC Jerry Can Holder 
Installation Instructions

Thank you for choosing Brandner Design's FWC Jerry Can Holder. Below you will find 
installation instructions and included hardware. You may need a friend to help install.

Hardware Included:
1. Bottom mounting plate screws

- (15) 1/4-20 x 7/16” hex drive screws
2.Hardware for Rotopax mounting plate

- (4)1/4-20 x 1/4“ hex drive screws w/ lock washers
3. (2) 6” rubber strips & (2) 8” neoprene strips;
4. (3) Spacers for jack stand mounting plate
5. Jack stand mounting plate hardware

-(3) 3/8” x 1 1/2” hex head bolts, (3)nylock nuts & washers
6. Under camper mounting hardware
7. Alternative under mount hardware

1. Begin by attaching the
bottom mounting plate
to the jerry can holder
and adhering the rubber
& neoprene strips to
mounting plates. Rubber
strips go on bottom
mounting plate;
neoprene strips go on
back plate.

2. Adhere spacer washers to back mounting plate &
remove propane tank if holder will be mounted below
propane compartment.

3. Remove jack stand bolts. Existing bolts will not be used
again. Place Jerry Can Holder side mount bracket between
camper jack stand mount and jack stand mounting bracket.
Secure the jerry can holder and jack stand using the new
jack stand mounting plate hardware

4. The final step will be securing the bottom
mounting plate. Use the bottom mounting plate as
a guide for drilling holes through the bottom of the
camper. You have a couple options here.
-Use a 5/16" bit if you plan to use a nut and bolt
option. Insert the bolt from the top down and
secure nut on bottom side of mounting plate.
-Use a 1/8" bit for pilot hole if you plan to use a lag
bolt option. Fasten lag bolt from the bottom
mounting plate into the camper base.


	Blank Page
	Blank Page



